Winter 2008, Section 4.9
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Check: F'(z) =2+ 1(32%) — 1(427) +0=1 + 3% — 227 = f(=)
4 flz)=82"—32"+122° = F(z)=8(52")—3(3") +12(3c*) +C0 =22 - 22"+ 3* +C
15. g(f) = cosf —5sinf = G(f) =sinf —5(—cosf)+C =sinf+5cosf +C

16. f(t) =sint +2sinht = F({) = —cost+2cosht+C
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H. f'(z) = vZ(6+ 5z) = 622 + 527/ = f(z) =42a™? + 222 +C.

f(l)=€+Cand f(1) =10 = C =4 50 f(z) — 4272 4 9,5/2 4 4

32 f'l(z) =22 —3/2* =2x —32~* = f(z) =2® + 27 + C because we’re given that = > 0.
f(l)=2+Cand f(1)=3 = C=1s0f(z)==2>+1/2+1
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